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<?xml version="1.0" encoding="UTF-§"?>
<ClinicalDocument xmlns="urn:hl7-org:v3" xmlns:mif="urn:hl7-org:v3/mif"
xmlns:xsi="http://www.w3.0rg/2001/XMLSchema-instance"

xsi:schemalocation="urn:hl7-org:v3 ..\sdschemas\SDA.xsd">

<realmCode code="CN"/>

<typeld root="2.16.840.1.113883.1.3" extension="POCD_MT000040"/>

<templateld root="2.16.156.10011.2.1.1.6" extension="DT2011001"/>

<id root="2.16.156.10011.1.1.1.2" extension="D2011000001"/>

<code code="HSDB02.02" codeSystem="2.16.156.10011.2.4" codeSystemName="_12 4= 155 & H: 5 4 4 i 14
R"/>

<title>" Al it V7 it 55 </title>

<effectiveTime xsi:type="TS" value="20111231154823"/>

<confidentialityCode code="N" codeSystem="2.16.840.1.113883.5.25" codeSystemName="Confidentiality"
displayName=""1F- 15 [r] {25 2 7] "/>

<languageCode code="zh-CN"/>

<setld/>

<versionNumber/>

<recordTarget typeCode="RCT" contextControlCode="OP">

<patientRole classCode="PAT">
<l f R SRR T >
<id root="2.16.156.10011.1.2" extension="201102113366666"/>
<telecom value="020-87815102"/>
<patient classCode="PSN" determinerCode="INSTANCE">

<name> 51 /N Hf</name>

</patient>

</patientRole>

</recordTarget>

<author typeCode="AUT" contextControlCode="OP">
<l-- ARBEVIHH >
<time xsi:type="TS" value="20110404"/>
<assignedAuthor classCode="ASSIGNED">
<id root="2.16.156.10011.1.7" extension="234234234"/>
<l-- UitlEEAEES >
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<assignedPerson>
<name>Z* % AF </name>
</assignedPerson>
<representedOrganization>
<id root="2.16.156.10011.1.5" extension="01"/>
<name>xx[% it </name>
<addr>xx[X xxffxx 5 </addr>
</representedOrganization>
</assignedAuthor>
</author>
<custodian typeCode="CST">
<assignedCustodian classCode="ASSIGNED">
<representedCustodianOrganization classCode="ORG" determinerCode="INSTANCE">
<id root="2.16.156.10011.1.6" extension="EHR & B ¥ %% 5 "/>
<name> T /F Jey fi# B 58 48 BEL 1 00 </name>
<telecom value="0209837373"/>
<addr>xxfjiE</addr>
</representedCustodianOrganization>
</assignedCustodian>

</custodian>

<relatedDocument typeCode="RPLC">
<parentDocument classCode="DOCCLIN" moodCode="EVN">
<id root="2.16.156.10011.1.1.1.2" extension="D2011000000"/>
<setld/>
<versionNumber value="1"/>
</parentDocument>

</relatedDocument>

<component>

<structuredBody>

<A AR E T >
<component>
<section>
<code code="8716-3" codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"
displayName="VITAL SIGNS"/>
<text/>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.10.188.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T£ {5 5445 7t H 3% " displayName="{4&H"/>

<value xsi:type="PQ" value="60" unit="kg"/>
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</observation>
</entry>
<entry>
<organizer classCode="BATTERY" moodCode="EVN">
<statusCode/>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.10.174.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T/£ {5 2445 70 H 3% " displayName="1/i 4 "/>
<value xsi:type="PQ" value="120" unit="mmHg"></value>
</observation>
</component>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.10.176.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T £ {5 B4 4% 70 H 3% " displayName="%#F 5K J"/>
<value xsi:type="PQ" value="60" unit="mmHg"/>
</observation>
</component>
</organizer>

</entry>

</section>

</component>

<-- 2 AR R ) i 2 T >
<component>
<section>
<code code="11450-4" codeSystem="2.16.840.1.113883.6.1"
codeSystemName="LOINC" displayName="PROBLEM LIST"/>
<text/>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code=" DE04.10.242.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T £ {5 2445 70 H 3% " displayName="22J&"/>
<value xsi:type="PQ" value="5" unit="d"/>
</observation>
</entry>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.01.119.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T £ {5 2445 7t H 3% " displayName="F1f"/>
<value xsi:type="ST">F i ffi i </value>
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</observation>
</entry>
</section>

</component>

<l--) A A B >
<component>
<section>
<code code="57073-9" codeSystem="2.16.840.1.113883.6.1"
codeSystemName="LOINC" displayName="Prenatal events"/>
<text/>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.10.067.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T.A {5 5% 70 H 5" displayName=""5 Ji& {5 f£"/>
<value xsi:type="PQ" value="45" unit="cm"/>
</observation>
</entry>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.10.052.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""TA£ {5 244 7t H 5% " displayName="J|§ ["/>
<value xsi:type="PQ" value="60" unit="cm"/>
</observation>
</entry>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.01.044.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T {5 & 4} 6 H 3" displayName="fi /7 (7 5" />
<value xsi:type="CD" code="01" codeSystem="2.16.156.10011.2.3.1.106"
codeSystemName="Jf 5 (74 iL K" displayName="/fLHT (LOA) "/>
</observation>
</entry>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.10.183.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T £ {5 2445 70 H 3% " displayName="Ji1.L»#"/>
<value xsi:type="PQ" value="60" unit="7X/min"/>
</observation>
</entry>
</section>

</component>
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<l-- SEIGE G A >
<component>
<section>
<code code="30954-2" codeSystem="2.16.840.1.113883.6.1"
codeSystemName="LOINC" displayName="STUDIES SUMMARY" ></code>

<text/>
<l I >
<entry>
<organizer classCode="BATTERY" moodCode="EVN">
<statusCode/>
<component typeCode="COMP"> <l-- M4EH >

<observation classCode="OBS" moodCode="EVN">
<code code="DE04.50.091.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 245 ¢ H %"/~
<value xsi:type="PQ" unit="g/L"/>
</observation>
</component>
</organizer>

</entry>

<l SR>

<entry>
<organizer classCode="BATTERY" moodCode="EVN">
<statusCode/>
- REAE >

<component typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.50.050.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & 445 70 H %" />
<value xsi:type="CD" code="03"
codeSystem="2.16.156.10011.2.3.1.95" codeSystemName="J 525 & 5& A5 25 RACHS £ />
</observation>
</component>
</organizer>

</entry>

</section>

</component>

<GP EET >
<component>
<section>
<code displayName="4#i Bhf& £"/>
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<text/>
<entry typeCode="COMP"> <l--BH#i -->
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.30.002.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 445 7 H %"/~
<value xsi:type="ST">%% R ffiiA</value>
</observation>
</entry>
</section>

</component>

<R >
<component>
<section>
<code code="51848-0" displayName="Assessment note"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>
<text/>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.125.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 445 7C H 3" displayName="2427= {3 {ig FEP¥Al 57 5 b />
<value xsi:type="BL" value="true"/>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code=" DE05.10.126.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 5 54 7 H 3" displayName="24%77 {7 fid FE 1AL 75 45 R Hfih />
<value xsi:type="ST">%2 /"= {g FE T Al 7 i 45 R fli ik </value>
</observation>
</entryRelationship>
</observation>
</entry>
</section>

</component>

<\-fEEsR S E T >
<component>
<section>
<code code="69730-0" codeSystem="2.16.840.1.113883.6.1"
displayName="Instructions" codeSystemName="LOINC"/>
<text/>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.152.00" displayName="2%7"= 1 {if f& & S 3 R AL "
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codeSystem="2.16.156.10011.2.2.1" codeSystemName=""T £ {5 & ¢ H 3"/>
<value xsi:type="CD" code="1" codeSystem="2.16.156.10011.2.3.1.195"
codeSystemName="2%2/"= 1 {i F 15 F I HAAL %K " />
</observation>
</entry>
</section>

</component>

<|--FEZ N E >
<component>
<section>
<code code="18776-1" codeSystem="2.16.840.1.113883.6.1" displayName="referal"
codeSystemName="LOINC"/>
<text/>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.174.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. {5 B 4#5 70 H 5" displayName="#%1245&"/>
<value xsi:type="BL" value="true"></value>
<entryRelationship typeCode="CAUS" negationInd="false">
<act classCode="INFRM" moodCode="APT" negationInd="false">
<code code="DE06.00.177.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. {5 B 2#% 70 H 5" displayName="%%12 il [A]"/>
<text>JiL [KI: WP VR A, 5 175 00 B </text>
<performer>
<time/>
<assignedEntity>
<id/>

<representedOrganization>

<name> N F}</name>
<asOrganizationPartOf>
<wholeOrganization>
<name>xx %) R fiE o0 </name>
</wholeOrganization>

</asOrganizationPartOf>
</representedOrganization>
</assignedEntity>
</performer>
</act>
</entryRelationship>
</observation>
</entry>

</section>
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</component>

<1-- "N IR Y] %R >
<component>
<section>
<code displayName=""F /X fi 1/j ZHE"/>
<text/>
<entry>
<observation classCode="OBS" moodCode="DEF">
<code code="DE06.00.109.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 B &4 ¢ H %" displayName=""F (Xt 1Jj H 3" />
<value xsi:type="TS" value="20110606"/>
</observation>
</entry>
<entry>
<observation classCode="OBS" moodCode="DEF">
<code code="DE02.01.057.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 4= {5 & ¥4 70 H 3" displayName=""F {X Ui P 1 £ "/>
<value xsi:type="ST">F /X i ML Hh 55 </value>
</observation>
</entry>
</section>
</component>
</structuredBody>
</component>

</ClinicalDocument>
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